il

g
=
s
i

1. ¥¥4
¥4 SN T AR ) KRR F NS
JEATST BGHL N B AT N

2. KBENE
ESRNIECIPIIE (2775 =2 K

1) FEF4
2) BT 203 H H &fn 74 64 7H
= S THE12H26H

3) wHwyI
AYTEIL, IR CIRAALE L S EFROWRL ORI 2175 b0

5,

4) EBNE
RSB R R D L B Y

E+sZi@E SN



ERA | BT EERH) GRS GV ER ER i W=
H H HEHI&
THH - TR - f5) B fif iy 4 A MBI AN R
HiF & EY 1 1,732,129
FiLH £ 2y 1 1,732,129
L £ 2y 1 1,732,129 | Bl (fE3EF )
1 kW
B b
0.1 )1 (km2) =
Jits A & 2y 1 5, 770, 090
BRI = 1 5, 504, 190
AR = 1 5,504, 190 | VE£3
1 kW
B Ay
3 km
B E
3 km
TR
3 km
TR &
3 km
VR = 1 265, 900
TR £ Fy 1 265, 900 | A7) 1134 7AH) B
5 bR
BiStii} = 1 163, 750
e = 1 163, 750
Frewss: = 1 163,750 | {T&6¢
1 =

-1- E+sZi@E SN



i
I
St
%lljll
I

ERA | BT EERH) GRS GV ER E BB
H H B
THH - T - fER] A7 % & 4 % OB ORR
ERERE = 1 148, 864
[ERES S E2V 1 148, 864
TRE A m 2y 1 37,864 | irEzwmE (R L - fminke)
1 =X
Ty 2 1 111,000 | FEFRCRALIEREE
1 =X
EHER 2y 1 7,814, 833
Eite3bresy = 1 5, 945, 167
At E2V 1 5,945, 167
T ESEG Mk =X 1 13, 760, 000
TESE AR R = 1 1, 236, 137
TTE A E% = 1 1, 236, 137
TRLE AR R = 1 1,236, 137 | JEHREIRR G
2.5 )1 (km) =
) AR Rt = 1 5, 130, 091
et = 1 5, 130, 091
AR R = 1 5,130,091 | FEFFHMRRE!
(150 )1 (m) 2
paxil
R
(150 )1 (m) 2
S

N

-2 - E+sZi@E SN



==
=]

m
2
%

ERA | BT EERH) GRS GV ER E BOES
HH ) S Rk at
THH - T - fER] A7 ¥ & 4 % OB ORR
T
9 )1 (m=X
J{al
Heim G2V 1 397, 920
Him GREHED) 2y 1 397, 920
e 2y 1 262,500 | ¥FTAE
1 X
INBH AR S ERK 2y 1 135, 420 | /ABEIR% SRS VER
1 k5
E R =X 1 403, 827
R = 1 403, 827
P i =y X 1 41,827 | iRgzsimtr (FEFE - IR
1 A
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 1 362, 000 %%Eﬁ%&ﬁzﬁk%
1 A
EEEM (ZF Oz <) = 1 7, 167, 975
Ot JFAT = 1 3, 575, 283
— I A = 1 5,776, 742
EHATRE = 1 16, 520, 000
SERSMA = 1 30, 280, 000

-3 - E+sZi@E SN



